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BMS (Elective) —Solution

(€))

Describe steps of modelling.

05

Steps of modelling with description

(b)

Explain different biophysics tools.

05

Four tools with necessary equations and definitions

(c)

Differentiate between Golgi tendon organ and Spindle receptor

05

Location, significance, diagram

()

Explain stretch reflex and reflex arc.

05

Definition, all the physiological components of stretch reflex, diagram

@)

Differentiate with suitable example,
(i) Compartmental modelling and non-compartmental modelling
(ii) Lumped parameter and distributed parameter models.

10

(i) Compartmental and Non-compartmental modelling

05

Definition, description, example diagram

(i1) Lumped parameter and distributed parameter model

05

Definition, description, example diagram

(b)

Explain with necessary equation linearized model of immune system.

Definition of all the parameters

Equations of all the parameters

Bock diagram

Graph

—_ W W|Ww

(@)

With reference to the Westheimer’s eye movement model,
i) find the expression for displacement
ii) find the time to peak and maximum displacement

10

i) Derivation to find displacement
transfer function of second order system
step response of second order system

ii) Derivation to find tp
value of tp using € and ®,
Maximum displacement using value of tp

(b)

Draw and explain the plant model of human thermoregulatory system.

10

Block diagram

Explanation

06
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